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el OIS D 28 A EX CERED
= _ — d =
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03 &Ar2 Gl 500 500 0
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09 &AL HI B &S 2,000 2,000 0
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OOrgel et ZHEZA 20,000
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OxzH EHJ| 60,330 *10H x63] 3,620
OMd=X - H< &= MAH 42,7803 38 x10 1,284
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01 AP 2t 2] H| 550 550 0
OXNOHEHASEA HA 22
550,000& x1CH =1L 550
301 et A= 2,500 2,500 0
09 HAIAHI BEAZ 2,500 2,500 0
OY - S X0 Z ASHAL 2,500
NS At 257,054 253,585 3,469
AHE EFHAMA 247,668 247,008 660
201 et 9| 5,940 5,280 660
01 AFR 2t 2| bl 5,940 5,280 660
oY x =2 5,940
—HAEAL=X (Moo S) 5,940
cHHS 2 495,000 6L 2,970
g = 495,000 6 2,970
401 AlEHIZL 2 0HY| 241,728 241,728 0
01 Al& H| 240,000 240,000 0
OAar2 OI2etd ¢ =2 &l
5,000,000 64 A~ 30,000
OAE2 THoll FIEAE HE S
5,000,000 64 A 30,000
Ogzel daMs =2 & 2 AH(L=200m) 20,000
212 2= B2 ZHl 2 AHL=300m) 20,000
Ogiel 92 =2 HHlZAHL=150m) 25,000
Og4doel &2 =2 HH| 2 AHL=200m) 20,000
OAlE22 s =2 EZZAH(L=250m) 20,000
OgAaHiel H =2 ZHlZAHL=300m) 30,000
Os4d1el = =2 HH|l 2 AH(L=200m) 15,000
ogetel oA HH2=2 AH| = AH(L=200m) 30,000
03 Al&E 201 Y| 1,728 1,728 0
OF0U=2ANYE S 240,000,000 *0.72% 1,728
22X =HAH| 9,386 6,577 2,809
101 Q24| 5,186 2,377 2,809
04 JI2ZtHIZ22NEE S 5,186 2,377 2,809
OHAET REISS Z2F3H& A 22| (4 a)
42,7802 x1&H x 120 5,134
OMMEE = 5,134 ,000& * 1% 52
201 et 9| 4,200 4,200 0
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e
01 At 22l 1,800 1,800
OXUMHEX S 22Xt 22 (&K, bl
= S) 150,000& 128 1,800
02 22224l 2,400 2,400
OFLHHE X S 2ZXSEA MI|, =T A
== 200,000& 128 2,400
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N = 0l & At & Ml A

20148 =0l & LESH S ~ HEH

SRR
B NSRBI (L)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
ao 468,397 460,941 7,456
HESHAALH(HEH) 209,885 221,045 A 11,160
ol 23| 68,344 56, 124 12,220
el 68,344 56,124 12,220
101 2124 d| 54,624 42,444 12,180
01 B 51,142 39,397 11,745
OA2RA2L4E HHE(12H) 12,456
— 53 11,3642 x 1H «10A| 2tx 12 1,364
— 62 9,692& *4H x10A| 2tx12& 4,653
732 8,754 1H «10A| 2+ 128 1,051
— 82 7,860 *3H x10A| 2tx12& 2,830
-9 7,104 *3H *10A| 2+ 128 2,558
Oz 8,955& * 12 *30A| 2t 12& 38,686
02 JIEt®8 2= 3,482 3,047 435
OFHFAFE(1Y) 3,482
—ANRARRLY(HUR)
7,252« 1H «10A| 2+ 123 871
—ZU2R+E(FF)
7,252 «1H *30A| 2+ 128 2,611
203 R =&lY| 10,120 10,080 40
01 J|229 P RF=XY| 6,600 6,600 0
OJ&2gd2F&8Y| 550,000& =128 6,600
02 BRIt E R =AY 520 480 40
OFIAINNMAR Y| 40,000& =134 520
04 ENSIHRE=EY| 3,000 3,000 0
ORANSIELERFAH| 250,000& = 12& 3,000
204 &R = A H| 3,600 3,600 0
01 S HR-HAY| 2,400 2,400 0
ONHIY2FTH| 2,400
—H & 150, 000& x 1 x12& 1,800
—E&dAH(20IE) 50,0003 *x1H x12& 600
03 SELREHI 1,200 1,200 0
OMNREREsH| 100, 000& x1H x12& 1,200
Jl22Z bl 141,541 164,921 A 23,380
JlE23Hl 141,541 164,921 A 23,380
201 et A | 100,101 112,781 A 12,680
01 AFR22t2l Yl 63,892 79,092 A 15,200
Ogbt3H| SHA & 17,691
ogg9=s4Y 36,500
— o 50,0003 * 14 * 120 2l A 12,000
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SN FH-SA(EN) - MBAY - BES e HlnE2
— =3 50,0003 *1H 2452 204 & 24,500
Ot 9 & 5,801
od 1 = 3,900
~TEA MEUIS L SHYYET Moty
Xt 300,000& 6= 1,800
—NERANYFTHTEO(HNE FNNE
SMEEH) 450,000& *23] 900
—ENMz3 0l LAY 2 300,000& *43] 1,200
S22l 36,209 33,689 2,520
03323 ¢ HA SUALY(SE A, =AM
22 ) 16,367
OXgs =4 2|
1,384 %24 *10A| 2tx120L *30H A& 9,965
OFAMN & JIet AIE&EH |XH SHHA 3,000
O Xt 4,657
— 283 s 4,657,000 = 1CH 4,657
O&IIXsA B8 & 450, 000& *2H 900
O&IIXESI HIANEZ 35,0003 =20 =12 840
O=sXgexzdsaE 40,0003 123 480
[Oll=] 38,640 38,640 0
01 = LH 4 Hi 12,240 12,240 0
OBEYRFI SAA A 7,920
ONsBAHS=ELR =&
60,0003 «2H 32«12 4,320
ERHCE] 26,400 26,400 0
OEHo 200,000& x11&H =123 26,400
THorF S| 2,800 13,500 £10,700
AL EFSH S 2,800 13,500 A 10,700
OFXII(LOIEE ) 500,000& = 1CH 500
OoMgDl 288 E=d 400,000 =2CH 800
Ot =2l 500,000& »3CH 1,500
SEH ALY | 258,512 239,896 18,616
AN ad 56,097 37,788 18,309
FOIEO0IHT 7,600 7,600 0
ALE A F 7,600 7,600 0
HALAHI 2 A3 7,600 7,600 0
OHEENs & ZSHIFAE L
7,000& *150H »23] 2,100
OAtzI &Ml & OIS AFA S 5,500
= 2 &l 26,454 11,818 14,636
101 @14 Hl 8,284 7,978 306
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
4 D122 E2XREES 8,284 7,978 306
OdietE2H =] 60,3303 10 6 3,620
OofetEzHZZLx Y 42,780%2H 20 1,712
O3MEAN H==SFAEL=S 22l
42,780%3H 20 2,567
Odgdasdz A2l 60,3303 x1H+5 302
OdMEE= 8,201,000%* 1% 83
201 LB-2EH| 2,970 2,640 330
01 At 2t 2l 2,970 2,640 330
Odl+==& =BHY L (HESR)LX
495,000 x6 2,970
206 M= Hl 1,200 1,200 0
01 =8l 1,200 1,200 0
O}2sic L BAZH SRUNEA)
300& *1,0002 *404 A&~ 1,200
401 Al HI & 2 08I 14,000 0 14,000
01 A& HI 14,000 0 14,000
OXN2&s E== E LWHMIBA 2,000,000& x63l 12,000
Oo/gg 248 B3 A 2,000
AELHH 2I XA 1,140 1,140 0
301 et a3z 1,140 1,140 0
04 2L HUIA2SH 1,140 1,140 0
OXNsgdHUH2E =S4 7,000& 10 128 840
OXsSYHU2Z L=l 30,000& 10 300
Bt A S 4,770 4,770 0
101 @144 dl 1,297 1,297 0
4 D12t ZE2XREES 1,297 1,297 0
ogdar= 42,7803 1«30 1,284
OdMMEE= 1,284,000& 1% 13
206 M= Hl 3,473 3,473 0
01 =8l 3,473 3,473 0
OZIAY 7 SHHL 3,473
2 2522 N2 14,673 11,000 3,673
101 1Al 3,673 0 3,673
04 JI2ZtHZ22HEE = 3,673 0 3,673
Oze==% 2l 40,4003 x990 3,636
OdMEE= 3,636,000& * 1% 37
201 LBt 6,000 6,000 0
01 At 22l 1,000 1,000 0
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401 Al HI L 204 HI 5,000 5,000 0]
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S 4 N 1,460 1,460 0
201 Bt 1,460 1,460 0
01 AP 22| H| 500 500 0
OAMNRES ¢ MHIIEE S 30,000& x12& 360
O&FEI| 22 70,000& *23] 140
02 E2=2=24%H| 960 960 0
O&IIE2 ¥ sSHe=2 80,000& x12& 960
ZF0I5 e St AL =& 7,300 6,300 1,000
0ot St s KN 6,000 5,000 1,000
307 2Iz2to| & 6,000 5,000 1,000
04 QIZ2tSH AL X 2 6,000 5,000 1,000
Oz0IItE Sotgs S HAIKE 6,000
HEE23 AlAH 1,300 1,300 0
301 et A= 1,300 1,300 0
09 HAIAHI BEAZ 1,300 1,300 0
QoA HABA(HH) 1,300
XSO AIS 195,115 195,808 A 693
A2 BFHAHAMA 181,296 181,296 0
401 Al HI L £ 0HHI 181,296 181,296 0
01 Al& H| 180,000 180,000 0
OsadgeE eSSy B LR=X42Z2AHL=10
Om) 20,000
OMYETHHDISHZABEH U= XA Z2AHL=100
m) 20,000
OotE (A W~0IS)HEURHEI ZH Z2AHL=
1000m) 30,000
OO QI3 2 FTHP AN B AP E LIS XL 2 At
(141) 30,000
OMHAE AL MHE2=(141) 40,000
Os0E &E2EZEHZ2AHL=100m) 30,000
Ost&al, X S ANESESZAH(146) 10,000
03 Al 201 Y| 1,296 1,296 0
OF0U=2AANE S 180,000,000 *0.72% 1,296
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